


Income statement for the year ended 31 March 1995

270,000
649.500
948 800
285.750
1,233,750

Debtors

Stock

Total current assets
Net fixed assets

Notes payable (9%)
Other current liabilities
Long term debt 10%
Net worth

54,000
100,500
100,000
663,000
1,233,750

Kshs

Sales 1 972 500
Less cost of sales |
Gross profit
Selling and administration 198.750 o
Expenses 105 7

Eamings before interest and
tax = - 11,250 :
Interest expense - 28,500 &
‘ ,{Jﬁ_ﬂrj;‘

Estimate taxation (40%)
Earnings after interest and tax —

Required:

(a) Calculate
1.
i,

i

Inventory turnover ratio | marks)
Times interest earmned ratio (3 mark

Total assets turnover (3 marks)
(3 marks)

iv.  Net profit margin
(Note: Round your ratios to one decimal place)

(b) The ABC company operates in industry whose norms are as follow
Ratio Industry Norm
Inventory turnover
Times interest turnover 5.3 times
Total assets turnover 2.2 times
Net profit margin 3%

Required:

Comment on the revelation made by the ratios you have computes in part (a) above wh
compared with the industry average £ [

6.2 umes

QUESTION FOUR

The following is the existing capital structure of company XYZ Ltd

Shs

1,000,000

800,000
400,000 ‘
300,000

Ordinary shares at Kshs 10 par
Retained

12% preference shares shs 10 par
16% loan shs 100 per

Total capital employed 2500004

The company’s ordinary shares have a divided cover of 3 ¢ i
10% on its ordinary share capital f

Ordinary shares sell at shs |8
Preference shares sell at shs |3
Debentures are selling ot par The tax rate
( ompute
(a) Growth Fguity 2
(bh) WACH 1] |
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